PRE-COLLEGE MATH






Name_______________________________

WORKSHEET 61 – Linear Programming, Day 2



Period____  Date_______________

Solve the following problem using linear programming.  
1.  A health food store is creating smoothies with soy protein and vitamin supplements.  A Soy Joy smoothie costs $2.75, and uses 2 ounces of soy and 1 ounce of vitamin supplements.  A Vitamin Boost Smoothie costs $3.25 and uses 1 ounce of soy protein and 3 ounces of vitamin supplement.  The store has 100 ounces each of soy protein and vitamin supplement in stock.  How many of each type of smoothie should the store make in order to maximize revenue?
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Objective function: __________________________
Constraints:  _______________________


________________________


________________________


________________________
How many smoothies?  __________________________________

Maximum profit = _________________

2.  A manufacturer of calculators produces two models: standard and scientific.  Long-term demand for the two models mandates that the company manufacture at least 100 standard and 80 scientific calculators each day.  However, because of limitations on production capacity, no more than 200 standard and 170 scientific calculators can be made daily.  To satisfy a shipping contract, a total of at least 200 calculators must be shipped each day.

a) If the production cost is $5 for a standard calculator and $7 for a scientific one, how many for each model should be produced daily to minimize this cost?

b) If each standard calculator results in a $2 loss, but each scientific one produces a $5 profit, how many of each model should be made daily to maximize profit?


Objective functions: a)_________________  b)_________________

Constraints:  _______________________


________________________


________________________


________________________
Standard Calculators:  a)________________  b)________________

Scientific Calculators:  a)________________  b)________________


    a)  Cost = ______________  b) Profit = ____________









